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PAPER-HISA-V
Time Allotted: Full Marks: 100
The figures in the margin indicate full marks. enfsF M 7E KT TfW e ¥
Candidates should answer in their own words AT (e ST TR HEI NN T
and adhere to the word limit as practicable. w7 IR/
Group-A
faer-s
Answer any four questions from the following: 5x4 =20
e @-ctw o1afe eives Bez fms
(a) Enumerate the causes of the Revolt of 1857.
Sred IHICHR TRcaies & & wme foe 2
(b) What were the objectives of the Aligarh Movement?
i S o 7 f2w o

(c) What do you mean by the ‘Safety-vaive theory’?
‘b - oleTe vy’ @S & @RI 2

(d) Mention at least two limitations of the Moderates.

TR wwe: b wEeer Srard F% |
(e) What was the essence of Gandhiji’s Satyagraha?
siiféa sTenietza e & fee 9
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(f) Why was the Swarajya Party formed?
@ TS W aifde Tafes ¢

(g) Why did the Cripps Mission fail?
o fimm v g€ et 2

(h) Discuss the Process of integration of the Princely states within the Indian
Nation State.

SRS TSI ANFA A (AT Ay o Y& aifes wcama T

Group-B
R4
Answer any four questions from the following 20x4 =80
Ffeide @-coim o1af6 ew Tea faw
2. Account for the regional variations in the revolt of 1857. 20

Sbreq IR Remitzg wiwelers (vay [eewe s+

3. Do you agree with the view that “the theory of the deindustrialization in 20
early colonial India is a myth”?

“@AfATMT A RS S ©ITe TIFTRAR ©F G0 SAE I8 NG -

a3 3&]) & IRy 9

4. Why did Extremism originate in Indian Politics? 20
OIS AT GG HANNZR T (I AR 2

5. Do you think that the Civil Disobedience Movement was a qualified 20

advance over the Non-Cooperation Movement in every respect?

S & A IR SN2 S ST SRS SRR ([CF TR Sl
oo
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10.

3066

Give an account of the growth of modern industry in India between 1919 to
1939. How did colonial rule affect the nature of industrialization during this
period?

505> FBIT (RTF d50d THw s vrre wyfe fe Reietz Rzt e @3
R PR sfacs @A = e aeiRe wwafee ¢

Show how the Muslim League was gradually converted into an instrument
of full scale separation.

e Mo ez & fw s Riverer® wicwrar 2feai weiske
e o Rz e

Did the Tebhaga Movement succeed in achieving its goal?

(SO STwIeT S Sraes) 2fael F7pe 2CafRe 2

Why was planned economy adopted in India? Mention the main objectives
of the first two Five-Year Plans.

SR e Sdife @ Az T TARS 2 auw ¢ BTSSR
AR Y T BrEd I

What was the position of women in late nineteenth and early twentieth
century Indian society?

Tt *ota (17 6 Rl W1O(3a BH0e SRS FACE MATE SE (S {281 2
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